OJo0odooooooooo@)--uoopPDFOOOOOO
Jo0oooooooood
https://www.100test.com/kao_ti2020/179/2021 2022 E9 9B 85 E
6 80 9D E4 BD 9C E6 c¢7 179838.htmUI 00 00O O
J0o0dobooboooodobodxlinpeod 00 oooon
O o0do0---0ddodoodobilioboooooouooo
Jo0odooooooodoooouoooooooooa
Dod0doodoooodoooodgnogd® thesis statement
0000000000 oad® thesisstatement” 00 O O
OSUMMARYO U O30 oo odododooouood
JO000o00o0oo0oodooooooooooooon
J0o00oo400000000000000000000
Jododoboboooodobooouoooooooooa
Jododoboooooodobooouooouoooooa
Jododobooodoodooooooouoooooa
Jo0odobooooooooodoooobooooasod
J0o0dooooooodoooooooooooooa
Jo0odoboooedoooooooooooooood
OJ000o0oooo7moooocQuuon AIED DO OO
OJo0oOovsSsoooooooooooooooooooo
J@UuoooooOo)yYoooooooooooooono
OO0 OO however but although,nevertheless [ I [J in fact
indeed [ 00 [J otherwise as a result because of this as a consequence
therefore J J O including such as for instance [J (1 [J moreover in
addition and also as well [J [0 [J between during when just after
before until followingwhilst D D OO0 OO0 OO0 ODO0O0OOO



000000 Owill/going to U [ 1t can be argued that ----- Itis
often argued that --- This suggests that This would suggest that This
seems to suggest that It could potentially result in ---- It may result in
Itispossiblethat 0 O O OO O ------- nuclear energy U 00 O O [
D00isOD 0 o0oooooildoooooooooood
DO00000000000 O what you would expect to find O
Jo0odooooooodoooouoooooooooa
[ O O 0O the chart shows average earnings in the uk over a 30 yers
period ------- we would expect to find that a

person------ however---------- 20 00000o00ou0odo
JO0000000000000000 0 while peoplke’” s
earnings increased accoring to their level of education ,the
differences are far smaller than would be expected .\What is more
Interesting ,nowever ,is,that the increase in earnings among
—=====-100Test O OO OOO0OOO0OOOOOOOONO
O 0O OO www.100test.com



